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Answer the Following Questions:

Questions ( 1: 3) : Choose the proper answer:

Ao Al e cal
Ay sl s (3 1) A

-

tdanaall

rg

an L.
[ |

If the total resistance of an
ammeter is R, the resistance of
the shunt inside it is

@ less than R.

more than R.
@ equal to R.

A0 A glial) cils 1Y) 1

$.5 jaa daglia Gl (R e

R ¢y ®
R e LS ©
.RL“;}L»S @

At the instant of generating the
maximum emf in the dynamo
coil, the angle between the cail
plane and the direction of the
magnetic flux

dadlal) 5 gaY o1 gs Alaat 4 -2
alial) Cile B calind) Ay st
Gilal) (s giana co dg) ) (585
sulaliiall Gasdl) oladl g

In He — Ne LASER, the Iaserﬁ
photon emitted by a neon atom

has energy the photon
energy that has transferred to the
neon atom when collided with an
excited helium atom.

(a) less than
equal to

(o) greater than

055 Gmi— psdell J3 -3

Ll dbaaaal ie 0} 5,3 JU1 o1
B b gl 5 )4
s @O -
(5 sl &
s S (3




Questions (4: 5): (5 : 4) Ay
Mention two factors that can increase each of: . ,
Lagisay Jadd cplale )

i JS Bk

okl 3ad -4

B Jhad) (2 s
Aiia 5 il

The intensity of electric current '==

passing through a closed circuit.

The electric conductivity of a

silicon crystal.




Questions (6: 7): Compare between each pair:

o) (7 : 6) Ay

i JS O

Point of
comparison

ZJJM\ 4a g

The Quantum Theory

The Wave Theory

How is Radiation
intensity
expressed?

Badi (o8 ardl) Ades
& i)

Point of
comparison

A, aag

Connecting a number n of
identical electric bulbs in
series to a battery of
negligible internal
resistance.

nbaad) (e N 2 Jua gl
sl Ao lae Ailaiad)

Connecting a number n of
identical electric bulbs in
parallel then to a battery of
negligible internal
resistance.

nbaadl (o N 3 Jua g
s Ao b AliLaial)

The current
intensity through a
bulb in series and
a bulb in parallel
connection.

JS 8 ol Ll Bad
g luan




Questions (8: 10):

: (10 : 8) A
What is the idea or the method by which scientists

could ...? D Laadal) A5yt o) 5 <dl L
0o oa o slalal) o

s i -8
=a"8.  Reduce the induce currents in the "z il b Gl

metallic core of a transformer. Joaall Hanal)

My o8 Gl -9
w\ AJ\‘QAJ\&;

Remote detection of the natural '==

resources underground.




A3 yial) Lol an 683 —-10
==' 10. Rectify the alternating current m ol iy sly ity

using semiconductor crystals. D gl

Questions (11: 12): i) cash 1 (12 5 11) Ayl
Write down the mathematical expression for: .
—i0m S (8 B ) Al )

=='11. Wien's Law.

=='12. Faraday's Law.




Questions (13: 14):

: (14 : 13) PRI
What is meant by ...?

..ol Lilghy Had )il
Lluagl —-13
il Ay <t

Bl daj
=5.38 x 10’ Ohm™. Metre™ = 20°C

5.38X 10’

==' 13.  The electric conductivity of

copper at temperature 20°C

The current gain of a transistor = '==
99




Questions (15: 16):

An AC supply (5V, 350 Hz) is connected in
series

to a coil of inductance 680 mH and an Ohmic
resistance 2.2 KQ

: (16 : 15) Al

(350Hz « 5V ) 23 5in L yaaa
I Afa ciley g1 e ey
2.2 KQ gl dagliag 680 mH

==' 15.  Find The impedance of the

circuit to the current.

49\9‘ -15
Bilal 48 glae
.kt

rg

Plot vectors in the opposite
diagram to express relative to the

indicated current vector:
- The voltage across the supply

- The voltage across the coil.

1oe sl A algadadl e - 16
aaial dpwdlly Cilal) ye agad) (G589 guaal) Bk O agal (38
S L




Questions (17: 19): : (19 : 17) Al
Write down the scientific term expressed by: g ‘ | s

il Laa g5

The state in which the number of
e b s Al Dl -17
S Z LY Jladl) o gl <43
A e sl Ao (6 sl

L) (s gual)

atoms of the active medium in the
production of laser in the upper
state is greater than that in the

ground state.

The rule used to define the T Laait aadius LAY Bacldl 18

magnetic flux direction due to 298 de puphlital) (audl) sla)

current flow through a wire.

A property of x-rays occurs as )
Gaaad dogiad) dadd dpals —19

&&M\gé\ﬁ\d}\i&)&)ﬁﬁs
cg oo Lgs 55 Al 2

they penetrate through materials
and help in the study of their

crystalline structure.




Questions (20: 22):

A number of identical
lamps are connected to
a dry cell and labeled as
shown in the diagram.

: (22 : 20) A
3 gary Aliaia Alilata 4y S iliaa B2
JSlly LaS Aad ja g ¢ 24

=='20. Arrange these lamps in a

descending order according to

their brightness.

Badl Gaay Le Jaw —21

What happens to the brightness
of the lamps P1 <P3 when the

filament of the lamp P2 is burnt

out:

(P1 A jal pliaal) 3oL}
Add g yia) s A P3
:P2 7 luaal)

Glowing of lamp P1:




==' 22.  What happens to the brightness
of the lamps P1 «P3if thereisa

capacitor instead of the lamp P4:

S L Jaw =22
C..Hl.m.d\ b L) sadd

gép3 P1 u}d\
Yo 8ia dgag ddla

Glowing of lamp P1:

Question (23):

== 23. Record in a table the different

- probabilities of the output Q for
the logic gate grouping shown in
the diagram when all input A, B,
and C is alike.

2 (23) Jiged)

cNlaal Josa A Ja

il gl peadl Q z A
Ladie JS&IL Cpsad) Ailaial)
C B (A Jad oS
Slilatia




Questions (24: 25):

: (25 : 24)
When does each of the following values equal zero? ( )

(6 ghasi AN all) (9SS i
¢ sua

=@"24. The voltage across the collector— '==

- itter junction i ) G 2420 G424
emitter junction in a npn el O 24 ﬁﬂﬁ

cNPN g il 5 A Seldlg

wagil & ide el g

transistor in common emitter

connection.

=='25. The phase angle between the _. agal) o jghall dggl5 -25

alternating total voltage and the Bila A 2o il jlall g A<
current in LCR circuit.




Questions (26: 28):

How would you explain?

: (28 : 26) L
§ add o

=='26. The disability of visible light to
penetrate through many

materials.

(Al o guall 3,38 are -26
gl g S DAY Je

wB®27. Formation of clear images when ™g
||

using digital electronics in TV

transmission.

s ALdiud) § ) ual) L83 27
Sl 5 b 3 jgal aladiud




=='28. Existence of an inductive coil in ﬁ o Juaia Gia Cile 3529 —28

parallel across the fluorescent (P iy glil) luaa pa (5 )53

lamp as a part of its circuit.




Questions (29: 30):
What are the results based on?

: (30 : 29) Al
Sl Laa JS Ao A i) gt L

=='29. Increasing the length of a
conductor to double and
decreasing its cross sectional area
to its half.

(with respect to its resistance).

o Jasa Jsh 8445 -29
o) Aakie Aalua (alliy cinal
s S A glial Apasilly Ciaall

=='30. Passing a photon of energy E
through an atom in a level of
energy higher by value E than the

ground level.

U4 E 4l 9598 59« —30
280 4l e g gisa B
'Lf"bjg‘ S5l e B ik




Questions (31: 32):

In the given circuit diagram:

£ (32 : 31) Ak
AL 5,0

LTS
||

Calculate The current intensity

through the resistor Rj.

A cuaal =31

Sl (s

un 32.
|

Find the consumed power in the

electric circuit.

5 il qaa) —32
50l 4 5 Aiiiual)

-




Questions ( 33: 35) : Choose the proper answer:

: (35 :33) A
tdasaal Lh}’\ Al

Lam33,
[ |

The logic gate that is composed
of two transistors connected in
parallel is

® NoT.
AND.
(© oR.

OS5 N Llaial) 4 g0 -33
535 e o sl o
oA g3 o b opilatia

Two currents 1, 21 pass through
two parallel straight wires as
shown in figure. When moving
the wire Y further away from the
wire X, the magnetic flux density
at the point C X

@ Decreases.
Does not change. ce
© Increases.

21

20 ] G 34
e . JSAll LS gl e gpaslas
OF taaiia Y dlud) &y o
el Adlis ol X el
oo C Al e pughlizal)
5 O

#8y ()

KIKBY @

mm 35.
|

Capturing a free electron by a ﬁ
positive hole in the silicon crystal
leads to

@ Formation of an ionic bond.
Releasing heat or light.
@ Absorption of heat or light.

5928 B a gl pleai) -35
$4% OsSalal) B )00 (A Ao ge
s

sl Al 058 ®

ssa e ©
o3 55 pablaid (3




Questions (36: 37):
Mention two factors that can increase:

: (37 : 36) i
S Balyj LagiSay bbb cplale S5

0

=='36. Magnetic dipole moment of a coil. ﬁ‘

=='37. Intensity of x-rays generated by

Coolidge tube.

Al giall Aniaud) Aaiy) 3ad —37
Al gl b




Questions (38: 39): : (39 : 38) Al

Compare between: .
PO OUR

1
a5 38. | Point of Absorption spectrum line | Emission line spectrum
comparison spectrum of hydrogen. of hydrogen.

A el 42 O bl pabaiad) cishs | cpa g gl Al Slaa) Cih

The image
formed in the
spectrometer

o cishal) B ) pua
P e lgple Juaad
il

Point of
comparison

A, aag

Hot Wire Ammeter Moving coil Ammeter
daiall cilall 3 yisa¥)

The reason of the
pointer deflection

Sl A ja G
o Ao




Questions (40: 42):
What is the idea or the method by which
scientists could ...?

: (42 : 40) Al
OSad AN Lalal) 45y phal) ) 5 <4 L
f.n. Cpa Lo plalal)

=='40. Increase the range of measuring
the current intensity by the

galvanometer.

o saa B35 —40
L) Bl e gilital

=='41. Form a 3D image through the

coded image on a hologram.

At A B e (i 9<3 —41
5 5REA 5 saall (ra




=='42. Identify the presence of hydrogen ﬁ asbigd) 3529 Ao i il —42

and helium in the sun's U Y A g 0l g
atmosphere.

Questions (43: 44):

: _ _ A s : (44 : 43) Ay
Write down the mathematical expression for:

—i0m JS o8 B paall Al

=m 43. Law of conservation of mass — F gl o5l —-43
. 43Ut — 4kigy
energy.

Law of mass action in the pure sladth 5 5 gLt Aticy

semiconductor crystal. il Cdla gl




Questions (45: 46):

The coil of AC dynamo is composed of 420 turns
and has cross sectional area 3 x 10° m® and
resistance of 5Q. The coil is rotating in a uniform
magnetic field of flux density 0.5 Tesla. If the coil
has started rotation from the position of being
perpendicular to magnetic field lines and reached
the position of generating the maximum emf after

1 22
— second (n=—).
200 7

: (46 : 45) i)
o Adle S ahe b galdna
dakaia daloc it 420
5 Q o) jal dagliag 3 X 1073m?
duagd AUS umhlite Jlaa A )9y
sl calal fa 138 . Mus 0.5
bohi  Jo gagarl) plagl (e
A A Jaany puhlinad) (il
inygsh Axdlal B GAL aliad)

(T

Find The average electromotive

force induced during the interval

1
of — second.

b gia ual —45
3\,3)653\ dxd)at) 5 sal)




Find The effective value of the
generated current when
connecting an ohmic resistance
245 Q to the dynamo brushes.

adladl) a.n,gﬂ\ ) —46
Jaa g dic A giad) Hlalt
Q ‘L)A\gi Lj&a @)h

csald) iy 245




Questions (47: 48): : (48 : 47) L)
What is meant by ...?

..ol Lilghy Had )il

"E"47. Frequency of an AC current=50 “gg| S —4T
[ | |

. What observations are based on
5 A aladal L -49

Y Gl Jua g e
& el (RiA (o 4 gl
¢l S Jaaa g (X) g luaa
b Om (Y) glan Smasiy

connecting the primary coil of a
step down transformer to an
electric bulb (x) and DC source,
and connecting another electric
bulb (y) to the secondary coil

terminals?




Questions (50: 52): : (52 : 50) bl
Write down the scientific term that can be expressed e P el plhadd) sl
as: fl Laa JS

-50
The phenomenon that proved m A 5 _alal

that photons have momentum. o e

lgd i 55580

A guantity equivalent to the emf dadlall 3 68 Lase
induced in a coil when the diaiwal) Ay 1)
_ i Ladie il B
current through it changes at a 1 Dt 4d L3

rate of 1 ampere / second.

_ Q\Js 5)13! -52
Exciting the atoms of the active m o i) gl

medium in the production of Ao gy jalll o L3

LASER using light photons




Questions (53: 54): : (54 : 53) Al

When does each of the following values equal zero? (6 glod AT 2BY G953 S
§ ua
a =53

==l53, The torque affecting a current — - Ssad) z) s ¥

carrying coil placed in a magnetic A pa cile o
field.

_ Laddll 48U — 54
The magnetic flux density at the m sie (anghaliial

midpoint between two parallel cpn Rbleeal) Ciaty
straight wires carrying electric o) sia ot
currents Efficiency of a

transformer = 0.8




Questions (55: 57):

How would you explain?

: (57 : 55) Al
§ add o

=='55. Presence of invisible spectral

series of hydrogen gas.

e b dle gaas 3529 —55

O gongd) Sl (S e

== 56. Using the hot-wire ammeter to
[ |

measure both alternating and

direct currents.

P g )AD Sl aladiu) 56
kil g 8350 L) e NS Gulh




=='57. Irregular graduation on the

ohmmeter scale.




Questions: (58:60 ) : (60:58 ) Atiu)

A circular coil of 100 turns carries a changeable current (1) O55e i3 Cita
producing magnetic flux of density (B) at its center. s i 100 (s

I (Ampere) 05110 | a |20 ] 25| 30 Oy (1) 4

Bxmx10° 2 4 5 8 b 12
(Tesla)

Ty Adad
e (B)4zdlis
Jilal S g

B )l —58
Plot the graphical representation B8US e Al

between the flux density (B) on e e (adl
the vertical axis and the current s (B) il
passing through the coil on the ¢ galall gaall
horizontal axis ad jlal) Ll Sadig
s e (1)

(sl

From the graph, find the value of

a and b.




For Graph only




From the previous graph, find

the slope of the obtained line and

then calculate the average of the

coil diameter.

- ib"i













For Graph only

Best Wishes
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